
Document 1

(A) What do the numbers 20, 2,500 and 1,000 refer to ?
(B) What is the innovation presented at the beginning of the text?
(C) What is the Centennial Light?
(D) What do these proper nouns refer to: Livermore, Philips, Edison, Chaillet?
(E) True or False:

The Centennial Light does not shine anymore.
The creators of light bulbs wanted the light bulbs to last forever.
The diminution of the life span of light bulbs was an idea of the firms creating the light bulbs.

(F)   Why do the manufacturers change the life span of light bulbs?

Document 2

(G) Explain the sentence.

Document 3

(H) What is the young boy doing ? Where is he?
(I) What problems can there be with this situation?
(J) In which country was the photo taken?
(K) Guess from where the waste come?
(L) What does it mean “e-waste”?

Document 1 and 3

(M) Can you make the link between the second paragraph of document 1 and document 3?


